
YFM47030 Gårdsharv

Artikelnummer: Benämning: Antal

1 YFM47031 Sladdplanka 1 St

2 YFM2006523 3 St

3 YFM4703060 Kätting 170cm 6mm 1 St

4 YFM2006562 16 St

5 Bult M12x55 6 St

6 YFM4703025 Bygel 4 St
(Inkl. 2 st till sladdplankan)

7 YFM4703015 2 St

8 YFM4703020 1 St

9 YFM4703010 1 St

10 Bult M12x60 8 St

11 YFM4703005 Dragstång 1 St

12 YFM99001 1 St

13 YFM2006570 Kulkoppling 1 St

14 Bult M12x50 2 St

    (Tillbehör)

Schackel 10mm

Låsmutter M12

Taggbanke

Banke bak

Banke fram

Dekal Pro

1

4
5

2

3

7

8

6

13

9

12

10

11

14

5

10

7

2

6


	Tabell1

